

$$\lim_{n \rightarrow -1} \frac{\sqrt{n+1} - \sqrt{n+2}}{1 + \sqrt{n}} = \frac{1-1}{1+(-1)} = \frac{0}{0} \rightarrow \frac{f'(x)}{g'(x)}$$

$$\frac{\sqrt{n+1} - \sqrt{n}}{1 - \sqrt{n}} \times \frac{\sqrt{n+1} + \sqrt{n}}{\sqrt{n+1} + \sqrt{n}} \times \frac{\sqrt{n+1} - \sqrt{n+1}}{\sqrt{n} - \sqrt{n+1}} = \frac{n+1 - \sqrt{n+1}}{1 - n} \times \frac{1}{1} = \frac{-1}{1} = -1$$

$$\lim_{n \rightarrow \infty} \frac{x_n - \sqrt{n+2}}{x_n - \sqrt{n+1}} = \frac{x - \sqrt{2}}{x - \sqrt{1}} \cdot \frac{1}{1} \rightarrow \frac{x_n - \sqrt{n+2}}{x_n - \sqrt{n+1}} \times \frac{x_n + \sqrt{n+1}}{x_n + \sqrt{n+1}} =$$

$$\frac{\varepsilon(r_n - r\sqrt{n} + o_p))}{\varepsilon(r - r_{n-1})} = \frac{r(\sqrt{n-1})(\sqrt{n} - \frac{a}{r}) \times \varepsilon}{\varepsilon(n-1)(n + \frac{1}{\varepsilon})} \xrightarrow{n \rightarrow \infty} \frac{r(1 - \frac{a}{r}) \times \varepsilon}{\varepsilon(r)(1 + \frac{1}{\varepsilon})} = \frac{r}{r} = 1$$

$$\lim_{n \rightarrow \infty} \frac{a\sqrt[n]{n} + c}{n} \stackrel{1}{\sim} \lim_{n \rightarrow \infty} \frac{a\sqrt[n]{n}}{n} \stackrel{\frac{0}{0}}{\sim} a + \sqrt[n]{c} \rightarrow \sqrt[n]{c} - a \rightarrow c + a$$

$$\frac{b}{\frac{b}{\sqrt{b^2 + c^2}}} = \frac{1}{\frac{1}{\sqrt{b^2 + c^2}}} \xrightarrow{\text{cross}} \frac{b}{\sqrt{b^2 + c^2}} = \frac{1}{\frac{1}{\sqrt{b^2 + c^2}}} \rightarrow \sqrt{b^2 + c^2} = \sqrt{b^2 + c^2}$$

$$u \rightarrow (-r_A)^+ \rightarrow \frac{\varepsilon + k \left[\frac{(-r_A)^+}{r} \right]}{\sin(-r_A)^+} \rightarrow \frac{\varepsilon - rk}{0^+} \rightarrow \varepsilon - rk > 0 \rightarrow \varepsilon - rk \rightarrow k < r$$

$$n \rightarrow (r_n)^- \rightarrow \frac{E + k \left[\frac{r - r_n}{\kappa} \right]}{\sin(-r_n)} \leq \frac{E - \psi_k}{0^-} = +\infty \rightarrow E - \psi_k \uparrow_0 \rightarrow E - \psi_k \rightarrow \infty \rightarrow \frac{d}{dt}$$

$$\lim_{n \rightarrow \infty} \frac{b\sqrt{n+1} - b}{a_n - b}$$

$$\frac{\frac{1}{r} b^{\frac{r}{k}} n^{-\frac{r}{k}}}{\varepsilon g b^{\frac{r}{k}}} = \frac{n^{-\frac{r}{k}}}{4} \cdot \frac{\lambda^{-\frac{r}{k}}}{4} \cdot \left(\frac{1}{P_E} \right)$$

rb.rb 50
± 10
↓
can 20
ra 10

$$\frac{b\sqrt{r}\sqrt{n} - rb}{an - b} \times \frac{b\sqrt{r}\sqrt{n} - rb}{b\sqrt{r}\sqrt{n} - rb} \times \frac{rb^r + b^r n^{\frac{1}{r}} - \epsilon b^r}{\epsilon abn - \epsilon b^r}$$

سوال ۱۰

$$1a - b = 0 \rightarrow b = 1a$$

$$\lim_{x \rightarrow 1} \frac{1a(\sqrt{1+\sqrt{x}} - 1)}{ax - 1a} = \frac{1a(\sqrt{1+\sqrt{x}} - 1)}{ax - 1a} \times \frac{\sqrt{1+\sqrt{x}} + 1}{\sqrt{1+\sqrt{x}} + 1} =$$

$$\lim_{x \rightarrow 1} \frac{1a(\sqrt{x} - 1)}{a(x-1) \times 1} \rightarrow \lim_{x \rightarrow 1} \frac{1(\sqrt{x} - 1)}{(\sqrt{x} - 1)(\sqrt{x} + 1)} = \frac{1}{1+1} = \frac{1}{2}$$